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N = 0l & At & Ml A
A S AT
HH: UAEN 018 43S ES/8ZE2528)
S UHEAH 08 oH Ko (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
S AITH &8 2t 1,978,077 2,040,347 A62,270
NEN 0l 43 (2S5 /832548 548,284 551,968 A 3,684
A 0l A e 548,284 551,968 A3,684
AAEN 243 33 25 45,993 46,750 AT57
202 o4 Hl 11,543 12,150 2607
01 SLHOHI 11,543 12,150 A607
O AN&EA 0IEEHS AMFX a2 =T [0
22 3 & 4,560,000 4,560 4,800 A 240
O A2 ZHUEN 22 JRFI[0&E 2]
3 & 4,560,000 4,560 4,800 A 240
O MENFM M0t L AEZXY ZA[0]a
22 Z 3 2,423,000 2,423 2,550 n127
405 XtatE SHI 2,850 3,000 2150
01 H&H ESFHSH 2,850 3,000 A 150
O dgad8IE NEANLRESUHAEME HEH 2
[Ol&HE 2] 23 2,850,000 2,850 3,000 A150
A2 BEXAEN 29 403,791 405,218 A1,427
201 fEt2E | 104,865 104,795 70
01 At 2t2ltl 26,449 28,104 A 1,655
O Let=ZHI[of & E 2] 25,945 27,600 A 1,655
o ANUH 223 Z & 3,395,000 3,395 3,600 2205
o &N w2 22F 2 & 22,550,000& 22,550 24,000 A 1,450
02 3324l 78,416 76,691 1,725
O 332= % HMA 22,498 20,773 1,725
o ANAH MEIFH AIER
Z & 8,710,800& 8,711 7,602 1,109
o AHOE &Iz 3 & 1,816,000& 1,816 1,200 616
405 Xt&tE SHI 28,443 29,940 A1,497
01 ML ESFHSH 28,443 29,940 N 1,497
O M2 SETEIN AHOE FIF X0 OHE
NEAN F[oaE2] d & 23,883,000 23,883 25,140 A1,257
O NMUBETEA 2 INEA FL[0AEZ]
23 4,560,000 4,560 4,800 2240
ANRIXEN 23 UsH & TEA Ha 28,500 30,000 A 1,500
307 glztol & 28,500 30,000 A 1,500
04 BIZHHAIE XS 28,500 30,000 A 1,500
O M2 NEH 23 HWEM X NEHUHE
[Ol&rE 2] 2 & 28,500,000 28,500 30,000 A 1,500
Ny 24 ELNIAMNL /NALZA) 1,297,803 1,434,832 137,029
Fd Fh 1,268,680 1,413,202 A 144,522
OEXF 252 JHel Ald=E 2l 58,632 56,932 1,700
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Ha: XANY SHHSG(ZELRANL/XNALCAl)
el AT A HH| (St
2 A .2 () - HEMNY - BHES 01l Ao IR Husz
101 @124l 28,752 27,052 1,700
04 JI2RI2E2RNEBS 28,752 27,052 1,700
O 2359 Hel Ads szl =2 15,525 13,825 1,700
o E=Z Z3E 2,850,0008 2,850 1,150 1,700
HAZR FH EXNHY 1,110,532 1,320,000 A 209,468
401 Al Y2 20| 1,110,532 1,320,000 A 209,468
01 Al&H| 1,110,012 1,315,248 A 205,236
O HAaZ2) XAS QI (R)MHSsW EX
04 2! Z23A 1,110,011,300& 1,110,012 1,315,248 A 205,236
03 Al& 2 H 520 4,752 A4,232
O a2 X642 QI8 (R)MAES D EX
o4 2! A 520,000 520 4,752 N4,232
CAITHA AL 99,516 36,270 63,246
101 @124l 6,440 0 6,440
04 JIZtRI2R2XNEES 6,440 0 6,440
O TATHMAIY ¥ Bad2 X 6,440 0 6,440
o J|=3 41,6802 * 18 = 52 x 223 4,585 0 4,585
o =Xtag 41,6802 * 19 = 223 917 0 917
o MBBEEZ 938,000 * 14! 938 0 938
201 LBt A H| 42,536 32,650 9,886
01 AR 22| H| 20,836 22,650 A1,814
O Yta2H| 10,006 11,250 A1,244
o TAIHMEE L BHAGHE MS2DE
[0l AHR 2] 2 10,006,000 10,006 11,250 A1,244
O 2d4¢ 10,830 11,400 AB570
o TATHMAAS] MNEl EHASSH[0AER]
A 7,600,000 7,600 8,000 2400
o SAHMARAS HE HAX DEH [0l A
2] 23 3,230,000 3,230 3,400 A170
03 AL G H 21,700 10,000 11,700
O STAITHA AISIOIIEIOI & At
Z= 15,000,000 15,000 5,000 10,000
O SATHY s XNAK3S 319 Ml
1,700,000 * 13 1,700 0 1,700
202 Ol 7,660 3,620 4,040
01 204l 7,660 3,620 4,040
O TATHMAIY L SA2XH A2 5,620 3,620 2,000
o ¢ 23 3,700,0008 3,700 1,700 2,000
O SAM = MOILLAZILNS A &A 2,040 0 2,040
o g 85,0002 * 3" * 22 x 43 2,040 0 2,040
301 YetE A2 2,880 0 2,880




S SATHA D
HE: MY HESHIELNANL/NALZAI)
cels A (EH9l:®e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
09 SALAIHI 2 &2 2,880 0 2,880
O SAITHA SA BAX AY 24
50,0008 * 28 * 53] 500 0 500
OS2 CATMIY CATNMSEE Ay
7,0008! * 170% * 23 2,380 0 2,380
307 QI2+0I & 40,000 0 40,000
04 DIABAIRE S 40,000 0 40,000
O A T2 29
40,000,0008 * 14 40,000 0 40,000
MIE2 NS =N 29,123 21,630 7,493
#=0IS TLAY 16,165 6,490 9,675
202 048l 4,028 4,240 212
01 2o 4,028 4,240 212
O #=20tS TANY AL [GIARY] 4,028 4,240 n212
o = U 23X 2,736,000 2,736 2,880 A 144
o o o 2H 1,292,0002 1,292 1,360 ~68
301 LBHR A2 2,137 2,250 A113
09 SHAIAIHI 2 A2 2,137 2,250 A113
O #=0t2 S&X A8 L A3s FA[0
=2 2 2,137,0002 2,137 2,250 A113
401 A2 HI L 2T 10,000 0 10,000
01 Al 10,000 0 10,000
O SY#=0t2 2 IHI(0138E AR
10,000,0002 * 14! 10,000 0 10,000
AD N2 TA BED| 9,400 9,500 A 100
202 04l 1,900 2,000 A 100
01 2 U0 1,900 2,000 A 100
O &0 A2 TANS) AREF[0A4EZ]
2 1,900,000 1,900 2,000 A 100
WUBEDEH O MAIY =3 3,558 5,640 A2,082
201 LEr2 | 0 1,800 ~1,800
ENEET 0 1,800 ~1,800
O HYAZDSY AR AAN2oey
ZH 0 0 1,800 21,800
202 048l 3,558 3,840 A 282
01 2Uf o8l 3,558 3,840 N 282
O HYBHNIA Ol A2 = [0
2] 23 3,558,000% 3,558 3,840 N 282
HHSAAY (TAIKA D) (IIEHIIE) 50,730 53,547 ~2,817
PIEET 50,730 53,547 ~2,817
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